0103050142 10

KS 305 Plus

meiabo

O
N

1/7

2/11/13



0103050142 10

KS 305 Plus

meiabo




\ KS 305 Plus
mela bo 010305014;'10

2/11/13 3/7



\ KS 305 Plus
mela bo 010305014;'10

2/11/13 a7



meiabo

KS 305 Plus

0103050142 10

Position Amount Type humber Description

1 1 1010737601 Moving guard compl. KS 305

2 1 1010737628 Linkage compl. KS 305

3 1 1010738004 Torsion Spring compl. KS 305

4 1 1385738036 Bevel cam shaft KS 254/305

5 2 1381700786 PLASTIC WASHER RD22/16X1,2

6 2 6202002305 HEXAGON NUT, PREV. TORQUE TYPE
7 2 6300016322 Washer

8 2 7006738049 Clamping lever compl. KS 254/305

10 2 6121102640 HEXAGON SOCKET HEAD CAP SCREW
11 1 1010738063 Return spring compl. KS 254/305

12 1 1010737695 Extraction channel compl. KS 305

13 1 1381691566 DUST EXTRACTION PORT 44/35-44/32
14 1 1388737529 Dust bag KS 254/305

15 1 6161068789 HEX. SOCKET SET SCREW, FLAT P M10X20 VER
16 1 6205084779 HEXAGON THIN NUT

17 1 6202128341 HEXAGON NUT, PREV. TORQUE TYPE
18 1 1010738055 Front back block compl. KS 254/305

19 2 6121023081 Cap screw

20 1 1010737865 Transportation lock compl. KS 254/305

21 1 1010738020 Pivot compl. KS 254/305 Plus

23 1 1010738012 Sliding sheet compl. KS 254/305

30 1 1010737377 Motor compl. KS 305

31 2 6172015687 CROSS REC'D PAN HEAD TAP.SCREW
32 4 6120015468 SLOTTED CHEESE HEAD SCREW M 6X40 VERZ.
33 1 1010737393 Carbon brush assy 120V compl. KS 305
34 1 1010737350 Amature 230V compl. KS 305

35 1 6341694742 WASHER 6,2X20X2,0 TKU1693

36 1 6304084039 SERRATED LOCK WASHER

37 5 6122151520 HEXAGON SOCKET HEAD CAP SCREW M 6X16 VER
38 1 7100067433 DEEP GROOVE BALL BEARING 15X35X11 6202-2
39 1 7100695361 Rillenkugellager 608-2Z C3 (8x22x7)

40 1 1010737784 Pointer compl. KS 254/305

41 1 1010737733 Table insert compl. KS 254/305

42 1 1010737776 Bevel detent knob compl KS 254/305

44 1 1010737725 Turntable compl. KS 254/305

45 1 6103001178 Hex head screw

46 1 1010737768 Saw blade cover KS 254/305

47 1 1381737752 GLIDE SEGMENT KS 254/305

48 1 1010737741 Mitre detent compl. KS 254/305

50 1 1010736427 Stop compl.

51 4 6131009460 CROSS RECESSED FLAT HEAD SCREW

2/11/13

517



meiabo

KS 305 Plus

0103050142 10

52 1 1010737440 Work clamb assy compl. KS Plus

54 1 9102689833 ALLEN HEXAGON KEY

55 1 1010737210 Auxiliary guide compl.

56 1 1010737504 Extension left compl. KS 305

57 1 1010737539 Base compl. KS 254/305

58 4 1010737547 Rubber foot KS 254/305

59 2 1010737555 Extension detent compl. KS 254/305

60 1 1010737512 Extension right compl. KS 305

80 1 1010737679 Wheel guard compl. KS 305

81 1 1010737830 Saw blade shaft compl. KS 305

82 1 1010737970 Locking Safety guard compl. KS 305

83 1 1010737954 Cover sheet compl. KS 254/305

84 1 1010737938 spring guide KS 254/305

85 1 1010737946 Stop Safety guard compl. KS 254/305

86 1 1010736168 Handle compl.

87 1 1010737580 Cable box assy KS 254/305

88 1 1010737989 Turning lever bracket compl. KS 254/305
89 1 1010737881 Belt pulley compl. KS 305

90 1 1010737903 Belt protection tube compl. KS 254/305
91 1 1010737814 Laser compl. KS 254/305

92 1 1010737806 Power supply pack compl. 120 V 60 Hz KS
93 1 1010737920 Motor bracket compl. KS 305

94 1 1010737890 Saw blade arrest compl. KS 254/305

95 1 7233738560 V-belt pulley KS 305 Plus

96 1 1010737288 Belt Guard compl.KS 305

97 2 6163121261 Grub screw

98 1 1010737652 Flange 120V compl. KS 305

99 1 8111737712 On-off switch KS 254/305

100 1 8402737574 Cable with plug KS 305 120V

101 1 1010737857 Housing saw blade shaft KS 305

102 1 7100198490 DEEP GROOVE BALL BEARING 17X35X10 6003-2
2/11/13 6/7



meiabo

L1

i

Lt}

2

|

il

2

D*‘_ﬁ

g

Field Lead

2/11/13

Field Lead

KS 305 Plus

0103050142 10

Colour of strands Couleur des cordons| Colores de los cordones
BK black noir negro
WH white blanc blanco
BU blue bleu azul
YE yellow jaune amarillo
RD red rouge rojo
TR transparent transparent transparente
BN brown brun marrén
GY grey gris gris
GNYE | green-yellow vert-jaune verde-amarillo
BKWH | black-white noir-blanc negro-blanco
GN green vert verde
oG orange orange naranja
vT violet violet violeta
TQ turquoise turquoise turquesa
Meaning of the symbols Interprétation des symboles | Significado de las abreviaturas
B plug fiche Clavija de enchufe
C condenser condensateur Condensador
D interference suppression inductance| inductance d'antiparasitage Choque antiparasitario
E electronic unit unité électronique Unidad electrénica
| induction coil bobine d'inductance Bobina de induccion
K terminal bome Borne
L light lumiere Luz
M motor moteur Motor
o} overload cut-out déclencheur de surintensité Proteccion contra sobrecargas
R reversing switch commutateur droite-gauche Conmutador de inversién de marcha
S switch interrupteur Interruptor
U change-over switch commutateur Conmutador
X electronic element élément électronique Elemento electrénico

77


http://www.tcpdf.org

